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Introduction

This is the second time that candidates have taken examinations for this unit, which requires them

to demonstrate and apply knowledge and understanding of key principles and concepts outlined in
the specification content.

This is an un-tiered paper that has been specifically designed to allow candidates of all ability
ranges to find questions that are both challenging and interesting throughout. Questions are
contextualised in a scenario and candidates will find that ‘command words' are used consistently in
the paper to indicate the type of response expected.

Candidates who achieved high marks often provided more detailed responses, including examples
and reasons where expansions or explanations were required.
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Question 1 (b)

Some candidates did not gain both marks because they gave only 1024 x 1024 x 1024 for the first
part of their response.

(b) The system uses a hard disc to store images of car number plates.

One kilobyte is 1024 bytes.

Construct an expression that calculates how many bytes there are in four
terabytes of disc storage.

You do not need to carry out the calculation.
(2)

|02 % loZh x oz xlo2h X W Qw Tevs)

ResultsPlus

Examiner Comments

1024 x 1024 x 1024 x 1024 x 4 was a frequent response.

This response gains both marks.

2 marks
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Question 1 (c)

A few candidates did not gain marks because they responded with P AND T AND S.

Some candidates did not understand what was required and drew logical operators. The + symbol

was commonly used incorrectly (perhaps in place of AND).

(c) Customers pay online in advance to use the car park. Members of staff do not
have to pay.

When a car arrives at the exit barrier, the system checks three conditions:
1) The number plate (P) has been recorded by the system.

2) Enough time (T) has been paid for.

3) The car belongs to a member of staff (S).

Construct a Boolean logic statement, using P, T and S, to represent the conditions
necessary for the system to raise the exit barrier.

ResultsPlus

Examiner Comments

This response gains both marks.

The use of brackets has no impact, because the order of
precedence means the AND parts of the expression are
evaluated first and then these results would be OR'd
together, producing the correct result.

2 marks
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Question 1 (d)
Candidates gave their answers using binary. However, some candidates did miss the second mark.

Some candidates did not gain the second mark because they did not represent the binary using 8
bits.

' A6 P
(d) The ASCII code for the character ‘R’ is 82 in denary.

CF & HI T

Derive the ASCII code for the character‘?;i: ng ginar! PP
63« "4 68

6% iy 01000100 T,

ResultsPlus

Examiner Comments

Marks are awarded for:

* 82 -14 gains (1) NB: 68 on its own would be enough for a
mark

* 0100 0100 (1)

2 marks
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Question 1 (e)

Where candidates did not gain marks, it was often for saying ‘cannot access the data’ instead of
referring to reading or understanding the data.

—_—

(e} Explain why the car park system encrypts the data it stores.
(2)

%EMWS}OTMM%% use  Hay twbornstbs  Ho

M&}w%da«réum%/ﬂ(lbwﬁe ...... cfoloeld

. M Ccd the
%féeéeplrfv&eb@Sm ....................... ey of the

I:E:Eknﬂa‘ AR N A% (tew Qu %;52 (Total for Question 1 = 9 marks)

ResultsPlus

Examiner Comments

This response gains the first mark because it has the

reverse of mark point 1 - if not encrypted, someone could
understand the data.

The second mark is gained for reference to customers'
information, which is enough to suggest customer data.

2 marks

GCSE Computer Science 1CP1 01

7



Question 2 (a)

Most candidates received one mark for giving examples of what guest characteristics could be
stored.

Many candidates did not mention 'record for each guest'. They also missed the opportunity to use
other database terminology that would have gained marks. When candidates did not gain marks,
they frequently gave responses including information that they thought a database would contain.

2 A hotel chain stores guest information in a structured database.

(a) Describe how guest information would be structured in a database.
(2)

There. wond: be. a- @ llumm(gor wmes W oom number,

ResultsPlus

Examiner Comments

This is a typical response that receives both marks.

2 marks

Question 2 (b)

Most candidates gained the mark for this question.

Question 2 (c)

Some responses lacked clarity or used repeated themes.

Very few candidates referred to access to read and write, scalability and bandwidth limitations.
Most of the answers compared physical security and also access from other devices.
Candidates often used the context of the hotel to situate their response.

Some candidates did not refer to enough content, or use enough rationale, to gain marks in the
higher mark bands.
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(c) The hotel chain is considering replacing local backup methods with ‘cloud’
storage.

Discuss the advantages and disadvantages of using ‘cloud’ storage for backup.

.,O""t”“‘!-"‘”“‘ﬂymp ..... ‘:Hr'""ﬂh‘m heCleadk 5"”"",?*!

o well e WMok cC o Hherg % e £ @k Mo&*hfmh/

I Guec e 5 R, e e B ke sk

fn  oaleyle o
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\ = {:ﬁf ‘ ‘ w
(CoUiik
/\ Examiner Comments

This response shows adequate knowledge of a few key
concepts.

Risk of fire is explained in terms of backups of backups.
Security is related to targeted attacks.

The content relating to access from anywhere is valid, but
access by multiple people is less so. The statement ‘at the
same time' is perhaps valid, but it is likely to relate to
collaboration opportunities, which is not relevant to
backed-up data.

There is mention of trust and control.

However, 'expense' is not qualified by scale and bandwidth
limitation is referred to, but in a vague way.

Reference to syncing could be interpreted as a reference
to collaboration and may be referring to Dropbox-like local
app functionality.

The section related to the Data Protection Act (DPA) is
irrelevant, because this can apply equally to local storage.

The range of content places this in Level 3. It does not
meet the Level 3 descriptor fully but is more than Level 2.

5 marks
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Question 2 (e)

Candidates gaining both marks made clear reference to the fact that all computers are connected

to each other, and if one node fails the others will still work.

Very few candidates did not include 'decentralised' in their response and some drew an image of
the topology, but did not explain it well (if at all). Sometimes, their response did not match their

image (the image being correct) and therefore prevented the award of marks.

Many candidates still referred to a central server, showing a lack of understanding of a mesh. Very

few candidates mentioned that the network is self-configuring.

(e) Describe a mesh network topology.

M&Q: ...... y {

ResultsPlus

Examiner Comments

The first mark is awarded for reference to each computer
being connected to each other computer.

The second mark is awarded because reference is made to
the fact that if one node fails, data transfer will still be
possible.

2 marks
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Question 3 (a)

Few candidates mentioned NAND memory. Typically, marks were only gained from mention of
transistors.

Some candidates did not show adequate knowledge of computer science, referring to flash
memory, USB or a simple explanation of how to save files. Very few responses mentioned floating
gates, with voltage to control gate. Some candidates could not fully explain the answer and some
were vague, showing lack of understanding.

Some candidates described how magnetic hard drives/optical drives worked, rather than solid state
drives.

3 Ateacher uses tablet computers with students to teach programming online.

(a) Describe how data is stored on solid state devices.
(3)

RV AT S .1 A

inshend  of  discomled, Crmplts of §=f-157’~*¢mf*ﬁye,wcfw{¢ ................

ResultsPlus

Examiner Comments

Marks awarded for the part of the response that mentions
that charged and uncharged transistors represent 0 and 1.

2 marks
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Question 3 (b)

Frequent awardable responses included those related to anti-malware, backup, defragmentation
and compression.

Some candidates had misinterpreted the question and described what the purpose of utility
software is, rather than giving examples.

(b) State two functions of utility software.

ResultsPlus

Examiner Comments

No mark is awardable for 'repair' because it relates to
'software' not 'files'.

Marks are awarded for:
* 'update software' (1)
* '‘compress...data’ (1)

2 marks
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Question 3 (c)

Many candidates circled the correct protocol. However, the domain rectangle was not as well
placed and many candidates included the entire URL. When candidates did not gain marks, they
often circled 'python.html'.

(c) Here is a uniform resource locator.

(http)/wwlpearson.couk i
3};, D 0.ulgsecondary/programming/python.htmi

Draw a circle around the protocol and a rectangle around the domain name.

(2)
hebps - ?r-‘r-.,..‘
&me.c— el et T,
ResultsPlus
Examiner Comments
The candidate's annotation helps here and both marks are
awarded.
However, without the annotation, there would be one
mark awarded for http.
No mark would have been given for the domain, because
two rectangles were provided and one of them is incorrect.
2 marks
Question 3 (d)
Many candidates were able to explain many features, with examples that supported the award of

marks.

However, some candidates confused their explanations of High Level Languages and Low Level
Languages. Many candidates referred to example languages such as Python and Java, without
providing features.

Assembly code and machine code were also mentioned but, again, features (as required by the

question) were not given. Pseudocode was also mentioned many times, perhaps indicative of a
common misconception.
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(Total for Question 3 = 13 marks)
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N / ResultsPlus
‘/\ Examiner Comments

For high level languages, ‘built in functions’ is expanded to
indicate how they are useful for programmers.

‘Closer to English’ is also expanded with how it affects use.

The third point ‘Another feature...goal of the program’ is
not articulated well, but shows adequate understanding.

This is developed subsequently into the points made
about assembly language requiring a knowledge of the
hardware, which is then expanded effectively.

This is better than a Level 2 response, but does not meet
the descriptor fully for the top of Level 3, due to the lack of
sustained reasoning or coherent structure.

Level 3

5 marks
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Question 4 (a) (i)

There were many variations of response to this question. Some candidates answered in terms of
maths and science responses, with 'wavelength' being a frequent label given for frequency. Some
candidates declined to respond.

Some candidates did not label at all or were confused by the elements. Some did not use the
correct terminology or used 'Pitch' or 'bit depth' instead of 'sample frequency' or 'amplitude’.

4 A baby monitor uses a microphone to record sound.

(@) An analogue to digital converter is used to change the sounds received by the

microphone into a form that can be processed by a computer.

() Complete the diagram to show sampling frequency and label both axes.

(3)
7 ™
\. W,
ResultsPlus

Examiner Comments

All marks are awarded.

Both axes are labelled correctly and understanding of
sample frequency is shown.

3 marks
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Question 4 (a) (ii)

Too frequently, candidates responded with ‘more accurate’ without any other level of detail in their
response, thereby limiting the award of marks. Most candidates who gained marks used the
responses ‘clearer sound’ or ‘higher quality’.

Where marks were awarded, it was often for stating that 'better' or 'clearer sound' was possible.
Many candidates did not gain marks for stating that higher volumes were achievable.

(ii) State the advantage of using a bit depth of 16 rather than a bit depth of 8.

sosd

ResultsPlus

Examiner Comments

The comment 'closer to the original analogue sound' was
awarded one mark.

The incorrect 'more sound intervals are captured per
second' statement was ignored.

1 mark
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Question 4 (c)

Candidates often gained marks for having the correct orientation for the numerator/denominator.

Few candidates gained full marks for 10242. Many candidates used 1024 instead of 1000. Quite a
number of candidates did not gain the mark for x 8.

Some candidates chose to respond using words and written statements and some candidates were
confused by division and multiplication.

(c) Construct an expression to show how many seconds it will take to transmit 20 MB
of data using a network transmission speed of 2 Mbps
1 KB = 1024 bytes.

You do not have to do the calculation.
(4)

.................................... f'z,cmm'z:«an\@z%x&\]?x\c;cx:xxo@o

ResultsPlus

Examiner Comments

This is an example of a response that gains full marks.

4 marks

GCSE Computer Science 1CP1 01 19



Question 4 (d)

Many candidates used the response ‘notices a change’ instead of referring to a set value or the
value being outside of a range.

Candidates used ‘'sends an alert’ (‘alert' was given in the question) as output, rather than specifying
what output was used for this. Many candidates identified that there would be an output, but did
not specify what that would be.

Frequently, candidates did not refer to an input device/sensor.

(d) Describe how an embedded system within a baby monitor can be used to alert

parents about changes in room temperature.
(3)

P\Sej\mr ____________ W\ oo adhe monder
(ensently monter i feMpathua change,

whea Uhe U:mqf.(c&urt%d%%@oh e
{’OO ............. \@'Vj, ....... ‘1/‘.4(. G\\ﬂ»(\""\ .......... ). Ji\'\1~r\ ........... BA’(— ............. ron Vi

w\\\btﬁéﬁkabﬁwatmﬁoﬁﬁﬁ

ResultsPlus

Examiner Comments

Marks are given for:
* sensor (1)

* 'when the temperature gets too high' because this
implies the mark available from mark point 2 (1)

* 'the alarm will go off' (1)

3 marks
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Question 4 (e)

Candidates did not gain marks for stating 'LAN', 'WAN' or 'Wired' and 'Wireless'. Some candidates
also gave the answer the wrong way around.

(e) The diagram shows two different types of connectivity media.
State the different types of connectivity media used at A and B.

Green-coloured
street cabinet

Customer'’s
home

Local
telephone
exchange

(Total for Question 4 = 14 marks)

ResultsPlus

Examiner Comments

Although not in the answer space, this response gains
both marks.

2 marks
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Question 5 (a)

Many candidates gained the mark for this question.

Question 5 (b)

Frequent responses included ‘frequently used instructions’ and ‘speeds up difference between CPU
and main memory'.

Many responses only mentioned that the component sends data across, between the two
components, therefore did not gain marks.

(b) Describe the function of the component labelled A.

(2)

[ i
Central Mai
processing A ain
unit memaory
- -

ResultsPlus

Examiner Comments

Marks are awarded for:
* 'The CPU operates faster than the main memory' (1)
¢ '...by storing commonly used instructions’ (1)

2 marks
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Question 5 (c) (i)
Most responses gained both marks for this question.

(c) (i) Convert the binary numberem 1,1101,to hexadecimal.

ResultsPlus

Examiner Comments

A correct response

2 marks

Question 5 (c) (ii)

Candidates often gained the mark for the second mark point, but often described hex as taking up
less storage in a computer, thereby limiting the award of marks.

(i) Explain why hexadecimal notation is used.

ResultsPlus

Examiner Comments

Marks are awarded for:

* ‘using binary would be too long so it is condensed’
because this relates to mark point (MP) 1 (1)

e ‘easier to understand’ (from MP2) (1)

2 marks

GCSE Computer Science 1CP1 01 23



Question 5 (d)

Many candidates described many parts of the FDE cycle that did not answer the question. There
was much description of the address bus ‘being sent’ to get data and the data bus ‘going to fetch
data’ from memory.

Candidates gained marks frequently for stating that 'the control unit sends a signal'.

Very few candidates referred to the programme counter. There was a typical misconception with
the roles of the buses and some responses confused data with instructions.

(d) Describe the role of the control unit, the data bus and the address bus when

fetching an instruction from memory.
(4)

The. cenkvel sl unik. 88ndS. o read sgnal to K BAM Vi Q..
conkrel. DS v oheh. B0 RAM waad 1 0.0kt beS. ER
apﬂ‘-u&'%%lc\dﬁ\QMQv&lnc,c&bmHll"‘-b!&ﬂEﬂ"MtEaPEq,M%D.DJ

romssevnesd  Eo the GO song. bhe. cleekel. bes T conbrel

b NOACHERS. . SLCtL. Of.. S WRLHURLN. comp cum(s SeRCH Yy
% (5 (8 oL reod or L@ Sporateen wlonel enguway (t ecevy
Lok B ey b B AMe s TR LSSt . ack.. Sh%. alacedss

e wnslveelbutin vl ereccled b Wy §Rethigy QW LA Erett
Lap catlehaRRS | o EML. AR0AGN. SSE AN W BRING. SRR (S | BON

ResultsPlus

Examiner Comments

All marks are awarded.

4 marks

Question 5 (e)

Most candidates gained the mark for this question.
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Question 6 (a)

Candidates would often gain the mark for 'x8'.

Many candidates were awarded a mark for '1024x1024' or '/64'. Many gained both marks for using
both in an expression correctly.

6 A computer stores images online.
(a) Animage uses 8-bit colour and is 64 pixels wide.
It uses TMB of storage.
Construct an expression to calculate the height of the image in pixels,
1 KB = 1024 bytes

You do not have to do the calculation.

........................................................... [ Xlo2k 2 02 X [02b-=  Jpi
.............. me e

X lo2tbe X 102ly T84 = Loighk o Hha irae ja.

ResultsPlus

Examiner Comments

The 1x part of the expression is ignored because it would
have no impact on the result of a calculation.

2 marks
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Question 6 (b)

Candidates who gained marks often described data as being stored in virtual memory on the hard
drive and covered points about active and inactive data.

Some candidates did not gain marks because they described cloud storage, or concurrency and
scheduling, rather than virtual memory and paging.

(b) The computer runs seven applications, at the same time.
The sum of their memory usage exceeds that of physical memory.

However, all seven applications run,

Describe how the operating system uses virtual memory to manage the situation.

(4)

ResultsPlus

Examiner Comments

Marks are awarded for:

¢ correct reference to paging (1)

* ‘the least recently used programs are moved to it' (1)
* 'to allow room in the RAM for new application' (1)

3 marks
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Question 6 (c)

Marks were often awarded for reference to efficiency and security vulnerabilities in code. Many
candidates stated simply this was for checking errors, or bug fixing, but were not specific enough in

reference to the fact that this was after the testing stage.

-

(c) A code review is an important stage in software development.

State the purpose of a code review.

)

m

ResultsPlus

Examiner Comments

The mark was gained for reference to checking for security
vulnerabilities.

1 mark

GCSE Computer Science 1CP1 01
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Question 6 (d)

(d) This notification appears on a computer screen.
4 7
Thank you for clicking our link.
Your important files are no longer accessible.
Can | get access to my files?
Yes, you can. Simply send your payment as described below.

How long do | have? |
14 days. .

How do | pay?

. Send £500 in Bitcoin to abc123def456ghi789.
J

Describe how this cyber attack operates.
(3)

O.DLL this CC./\Z::&/ artoack S 00 Movr...
Compurer, b quins. Glss. Jcovmqré'uaz,......
CAnD. L:locﬂfb,uiou Lrom acw,s.sm@__.__
-Q)(cn wou Fo Py P’\..Or\e.q o oXlock
L{é)ur Lies & Deder

ResultsPlus

Examiner Comments

In this response, ‘blocks you from accessing them' is not
enough for MP2 because it does not state how.

Credit is given for:
¢ '(forcing you to pay money) to unlock’ (1)

1 mark
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Question 7 (a)

7 The internet is the world's largest network.

(@) One function of a router is to forward data packets from one network to another
across the internet,

Describe how a router carries out this function.

(2)
ﬂ\ﬂ,r Q&WM

s mea‘:\m\

% ResultsPlus
Examiner Comments

Marks are given for:

¢ reads the header (1)
¢ most efficient route - MP5 (1)

2 marks

Question 7 (b)

(b) Explain why it is important to review network and user policies.
(2)

Nm\‘mﬁm@\w .................. ‘&LQ:&QS'.M‘Q. 20
ML&L@Q_&\Q}Q_QM . h;b) ......... A BIOQRING
e T Qc\umm@m\oﬁl\ﬁm&\
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ResultsPlus

Examiner Comments

Marks are given for:
* 'because of security concerns' (1)

¢ 'due to more advanced malware' (1) (Malware =
technology)

2 marks

Question 7 (c)

(c) The transport layer of network protocols splits data into packets before sending it.

Describe the process that ensures the data received matches the original.

ResultsPlus

Examiner Comments

Marks are given for:
* packets are numbered MP1 (1)
* placed in original order MP2 (1)

2 marks
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Question 7 (d)

(d) Inclusion is an ethical concern.

A school has decided to allow students to bring their own digital device to use in
class.

Assess the impact of the school’s decision on its ability to be inclusive.

NGk el Shdds

(4)

C)d'r&‘:-f‘tmm LL*W'\. —E\ﬁ T:

Ve nduld.

Q -

fnc—lvs ftome..

ResultsPlus

Examiner Comments

Marks are given for:

* Not all students may have a digital device (1)

'Meaning not everyone may be included' is too vague and
too close to the content in the question to show

assessment has been carried out.

The bullying that may ensue is not an impact on the
school's ability to be inclusive.

1 mark

GCSE Computer Science 1CP1 01
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Paper Summary

Based on their performance on this paper, candidates are offered the following advice:

Develop the good practice of expanding and explaining answers using examples and reasons,
especially where more than a simple statement or list is required

Respond with the context of the question in mind

Do not repeat responses when more than one example/reason is required

Ensure responses match the requirements of the command word

Identify key words in the question to ensure that responses reflect the question that is asked
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Grade Boundaries

Grade boundaries for this, and all other papers, can be found on the website on this link:

http://www.edexcel.com/iwantto/Pages/grade-boundaries.aspx
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